MATH 111 PRACTICE TEST 1

1.(8 points) Find the equation of the line passing through (-1, 3) and parallel to
the line 2x + y=3.

2.(8 points) Find the equation of the line with y-intercept = 3 and passing
through (1, -2).

3.(8 points) Find the domain of the function f (x) = X2+ 1)()22 3x = 4)

- x2
4.(8 points) Let f (x) = { XX2 _+XX++11 f(f;?rxxjoO
Then f(2) = and f (-2) =

: 1 1
5.(9 points) Letf (t) =g57 ; 9 (V) =577
Then a. f(g(2)) =

b. g({(Z)) =
c. h(3) =

and h (t) =f (t) x g ()

1 1
6.(6 points) Simplify (27)® (36)*

7.(8 points) Find the point(s) of intersection of the curves

y=x2+5x-6 and y=2x2 +3x-9

8.(9 points) Let g (x) =x2 + 2x - 1

Find a.(g(+h)-g(2))/h =

b. lim g(2+h)_g(2)
ho 0 h

c. g'(2)




4
9.(10 points) Let f(x) = Wx3  Then
a. f'(x) =
b. f'(16) =

10.(10 points) Let f(x) =+/x

a. The slope of the tangent line at x = 4

b. Find the equation of the tangent line of part a.

11.(8 points) a. lim, (WX2-5/x+1) =
X
: Vx+9-3
b. lim Y= -
x &0

12.(8 points) Let i f =2and i =4
(8 points) Le X%n1 (x) an X%n1 g (x)

13. (6 points) What is the equation of the line with y - intercept = 2 and parallel
to the line 3x -4y =17
ANSWER:

14. (6 points) What is the slope of the line perpendicular to the line 2x + 3y = 27
ANSWER:

15. (8 points) The line 2 x + 3y = -1 has
(i) y - intercept =
(ii) slope =

16. (6 points) What is the slope of the line passing through (1, -2) and (3, 1) ?



ANSWER:

1

17. i What is the d in of f =— 7
(6 points) at is the domain of f (x) 192
Give your answer in interval form, eg (a, b) etc.

ANSWER:

-3x + x2 x< 3

18. (6 points) Let f(x) = { oy -1 X =3
(i) £(3)=

(i) f(-2)=

19. (12 points) Let f(t) = \/41—7t2 g (t) =14 -12
Then (i) f (g (1)) =

(i) f(g (1) =
(i) g (F (1)) =
(iv) g (F (1)) =

20. (6 points) The curve of y =x3 -3x2 4+ 2x crosses the x - axis at x =
ANSWER:

21. (8 points) What are the points of intersectionof y=x-1 and y=x2-5x-87
ANSWER:

(ory®hs
22. (6 points) \(-27) 3 =
ANSWER:

11. (6 points) Let g (x) = x2 + x
Then g(2+h)-g(2) =
ANSWER:

23. (8 points) Let f (x) = 3x
Then (i) f(x) =

(i) fQ6) =




24. (8 points) Let g (x) = 1/+x
Then (i) g (x) =

(i) g (4)=

25. (8 points) The graph y = f (x) has dervative f' (x) = x2 -2x.
(i) What is the slope of the tagent line at x =-1 7

(i) What is the equation of the tagent line passing through (-1, 4) ?



